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ﬁiﬁi TREOBBOESSLADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREDHESSLNDKRES
; 100kN/m#%#BZ25| 1.00| 000 ~ 289| 14582 |3mZEBzB| — ~ — — — | 100kN/Mi%#BZ 5 | 1.00 | 1082 ~ 31.67| 14582 |3m&EHBZS -~ — — —
Zh st 1.00] 289 ~ 1068 100.00| ThLS | 000 ~ 1068 3.00 16.04 Fhst 1.00 | 5.00 ~ 1082 100.00 | Fns | 500 ~ 3167 3.00 16.04
2 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 290 146.04 |3mEBZB| 000 ~ 002|801 16.12 | 100kN/mM%E#BZ 5 | 1.00 | 10564 ~ 2599 146.04 |3mERBZB| 2500 ~ 2599 | 3.01 16.12
Zhst 1.00] 290 ~ 1069 100.00| ThLS | 002 ~ 1069| 3.00 16.05 Fhs 1.00 | 6,00 ~ 10.54 100.00 | =hLs | 5.00 ~ 2500 3.00 16.05
3 100kN/mM&#8Z 5| 1.00 | 0.00 ~ 298 147,41 |3m%EFEZB| 0.00 ~ 0.08| 5.04 16.29 | 100kN/mM%E#EZ 5 | 1.00 | 10563 ~ 26.34 147.41 |3mZE#BZ S| 2600 ~ 2634 | 3.04 16.29
ZhnLst 1.00| 298 ~ 1077 100.00 | TS | 0.08 ~ 1077 3.00 16.05 Zh st 1.00 | 5.00 ~ 1053 100.00 | #nLst | 500 ~ 2500| 3.00 16.05
4 100kN/M%Z#BZ2 5| 1.00 | 0.00 ~ 218| 133.81 |3mEBZB| 000 ~ 063|326 17.42 | 100kN/mM%E#BZ 5 | 1.00 | 1236 ~ 4555 133.81 |3m&ERBAB| 40.00 ~ 4555 | 3.26 17.42
Zh st 1.00| 218 ~ 996 100.00 | ThLs | 063 ~ 996 | 3.00 16.05 Fhs 1.00 | 5.00 ~ 1236 100.00 | =ns | 5,00 ~ 40.00| 3.00 16.05
5 100kN/m#%#BZ25| 1.00| 000 ~ 248| 13878 |3mZEBZB| — ~ — — — | 100kN/mi% 825 | 1.00 | 1067 ~ 2298| 15878 |3m&EHBZS -~ — — —
Zh st 1.00| 248 ~ 1026 100.00 | ThLS | 000 ~ 1026 2.61 13.97 Fhs 1.00 | 5.00 ~ 1067 100.00 | =nLsS | 500 ~ 2298| 2.61 13.97
6 100kN/mM&E#BZ 5| 1.00 | 0.00 ~ 0.99 114.93 |3mZEBASH| — ~ — — — | 100kN/mi%E#BZ 5 | 1.00 | 10565 ~ 1363 | 114.93 |3mEHEZD -~ — — —
zhLst 1.00 099 ~ 878 100.00 | #nst | 000 ~ 878|215 11.53 Zh st 1.00|5.00 ~ 1055 100.00 | #ns | 500 ~ 1363 2.15 11.53
. 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.73 85.08 | =St | 000 ~ 673|200 10.71 ZzhLs 1.00 | 5.00 ~ 9.30 85.08 | =0 | 5.00 ~ 9.530 | 2.00 10.71
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — -~ — — |3mZERBZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 5.98 74.94 | S | 000 ~ 598)|1.76 9.39 ZzhLs 1.00 | 5.00 ~ 6.80 74.94 | EnLS | 600 ~ 680|176 9.39
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




